There are errors on 4.3 (a), 5.4(a)  and 7.1.

Corrected solution are at the end of this file.
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Correct solution for 4.3 (a)

S -> aSa | aSb | bSa | bSb | a

Correct solution for 5.4(a)

Remove the second entry of the last column for each of the first six rows of Table 5.8.

Correct solution for 7.1

q0 Daaba |- Dq1 aaba |- D A q2 aba |- D Aa q2 ba |- D Aab q2 a |- D Aaba q2 D 

|- D Aab q3 a  |- D Aa q4 bA |- D A q4 abA |- D q4 AabA |- D A q1 abA |- D AA q2 bA

|- D AAb q2 A |- D AA q3 bA |- D A q4 ABA |- D AA q1 BA |- D A q5 ABA

 |- D q5 AaBA |- q5 D aaBA |- D q6 aaBA |- D A q8 aBA |- D Aa q8 BA |- D Aa hr BA

